Math 112 - Derivative Skills Practice Answers

Part 1
dy 1 _2 1 _a
1. % = gl‘ 3 — gg’j 3
o M _ (92 + 7)(z — 4) — (327 — 42)(9)
Cdr 9z + 7)2
3, % (@+2)° 6z +3)° (1) + (2 +3)° -8 +2)7- (1)
dy 3,7
4, —=-2—-t
a2 (1)
- dy  (9—42)3(1) —x- 59— 42)73(—4)
e ((9 —4a)2)?
dy 1 2\—3 2\%
6.d—:w —(1+2%)"4(2x)+ (1 +27)7 - (1)
X
dy B 1\ 9
7. dx—7<w+$> (1—a72)
s. % (24 6)2 83z — T)(3) + (37— T)F - 222 + 6)(22)
0 dy 23— 22\’ (52t + 7)(32% — 2) — (2 — 27)(2023)
Cdr St + 7 (bxt +7)2
10. % — %.1‘71/2—’-%1'73/2
dy_ 2 3 1 —1/2 1/2 2
11.@—(14-56 —x)<2az >+(x —2)(256—31‘)
3) (_ 4y _ (1 _ 2,2 5 2
12 f(r) = (3r +13) (=67 +20r*) — (1 — 3r% 4+ 4°) (3 4 3r?)
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14.

15.

16.

17.

18.

19.

(3r + 13)?
F(t) = [tQ 3+ + 1)2 (4% +2t) + (¢ + £ + 1)3 (2t)] +6
Jdw)=2-5- g (71}3 + 10)_1/3 (210?)

W (v) = (20— 5) - §(7v3 +10)71/% (2102) + (70* + 10) " (2)

dy [(z2+4x—|—2) (27 +2) — (2% + 27) (22 + 4) + 6o

dr (x2—1—4:c+2)2

% :4(u2+3u+4)3(2u+3)

fl(x) = (J:4 - 3m2) -2 (m?’ - 5:L'5) (3:1:2 - 25m4> + (:L'3 - 51’5)2 <4x3 - 6x>

g (z) =2 [(x4 - 3x2) <x3 - 5305)} [(w4 - 3302) (3:132 - 25:64) + (x3 - 5x5) (4333 - 6:10)}



20. R(2) =5 (-4) (¢ =2 + 29:)_5 (42% — 32% + 2)
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Part 11

1. s =10(2t + 3)*(5¢2 — 1)2(11#2 + 9t — 1)

2(4x 4+ 7)(—8x% — 21 20
2 H(x) = (4 + )(2$ ! x + 20)
(2 +5)
3 () = 2522 + 12z +5 2522 4+ 12+ 5

2hr+3  2(bx+3)/2

(3z + 5)%(105z + 37)




